N = 0l & AF & F Al A

SH: DERED
HE: DSHIMYA D
ool DSHH me (Sl &2)
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o J1E o B2
DEHF 425,199 300,441 124,758
Al 20,000 0 20,000
2 405,199 300,441 104,758
DEH™AHA 2 367,444 237,000 130,444
Al 20,000 0 20,000
2 347,444 237,000 110,444
DEBY B 119,737 138,517 £18,780
NERLFEZ 2 - = 21,852 22,152 A 300
203 HRFAY| 2,700 3,000 A300
03 AlZZ=TQ R =AY 2,700 3,000 A300
O DSBT AMZT (ML)
2 2,700,0008 2,700 3,000 A300
NS LUY HHHE L MASY B 44,013 44,343 A330
201 Yereg| 44,013 44,343 A330
01 Attt 2,970 3,300 A330
O MASPHPH HAR(ZDUDA, LYY
M DXNS)(MARZ)  ZF 2,820,000 2,820 3,150 A330
APES AALAY 1S 34,582 52,732 A 18,150
201 LBt Y| 34,562 52,732 A18, 150
01 At22relb| 33,543 51,693 £18, 150
O UASHBIIIHSE RIZH(0lAE2)
2 18,150,000 18, 150 36,300 £18, 150
DEUM U HIALES H| 247,707 98,483 149,224
Al 20,000 0 20,000
2 227,707 98,483 129,024
JCAY Mx 2 ZA 70,630 15, 162 55,468
401 Al&HIL 20| 70,630 15, 162 55,468
01 Al&H] 70,000 15,000 55,000
O S 8% L 22BA
218 70,000,0002 70,000 15,000 55,000
03 Al& S CH| 630 162 468
O ZAZE A&
23 70,000,008 * 0.9% 630 162 468
DINELXAL U EXNES SXIZA 50,540 30,324 20,216
401 Al&HIL 20| 50,540 30,324 20,216
01 Al&| 50,000 30,000 20,000
O DINELXAIL U EXNYS SXZA
2 50,000,0002 50,000 30,000 20,000
03 Al& S CHY| 540 324 216
O ZAZE A& 2 540,0002! 540 324 216
DEUF J=HE £ 14,585 1,585 3,000




SN DEBF
M SN A 2E
ol MEOHM U HOAME Iy (=E L
SNBSS - MEAY - BES 01l &k o p/E-T" {imE=Eh
201 LEH2HH| 3,000 0 3,000
01 AtE22/Hl 3,000 0 3,000
OusetdIIZ2HE M Feld
30,000& * 100= 3,000 0 3,000
SEFIE RAE= 22 20,000 0 20,000
Al 20,000 0 20,000
307 212t01& 20,000 0 20,000
Al 20,000 0 20,000
05 BIZtRAEZ 20,000 0 20,000
OFXE KA 2ol A (LHEH)
0,000,000 20,000 0 20,000
Al 20,000 0 20,000
WEANEES X ¥ FUISA(F=AR) 50,540 0 50,540
401 Al&HI YR OHYI 50,540 0 50,540
01 Al&H| 50,000 0 50,000
OusSA&=E €X ¥ 3l 50,000, 000& 50,000 0 50,000
03 Al =R0iHl 540 0 540
O3 A 2EAE 20 540,000& 540 0 540
HH2LZH (RS D) 57,755 63,441 A5,686
Jl2ZHl(nEa= ) 53,495 59,181 N5,686
Jl23tl HMRAMY (NS 53,495 59,181 N5,686
201 LBt 3| 31,031 34,221 A3,190
01 AtS 22l 31,031 34,221 A3,190
O er=Zdl(olarE2) 23 18,277,000& 18,277 20,308 22,031
O Sgdi(oaE) Z& 10,433,000& 10,433 11,592 A 1,159
202 O4Hl 22,464 24,960 A2,496
01 =W 22,464 24,960 N2,496
O szodI(oazaZ) 323 22,464,000 22,464 24,960 N2,496




